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Write 5
10

 in lowest 

terms.

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 5 feet?

How many minutes is it 
from 9:00 a.m. to 11:15 a.m.?

2,  2,  2,  4,  4,  2,  2,  2,  2, 

 2,  4,  4,  2,  2,  2,  2,  2,  

2,  2,  4,  ,   2,  2,  2, 

 2,  2,  2,  2

D,  H,  F,  I,  H,  J,  J,  K,  

,   L,  N,  M

5 + 5 + 3 - 7

What is the remainder of 
108 divided by 19?

t - 14 + 15 = 21
What is the value of t?

If z = -6 and n = 47 then 
what is 5z + 8n - 2n = ?

|-10| - c = 6

c =
6 x 6 x 6 x 6 = x4

What is the value of x?

The letter V has an 
unknown value.  If you 
multiply V by twelve, the 
product is three.  What 
value does V have?

Simplify.

30
45

 = 

5 + 60 ô 5 - 44 ô 11 = 
6
7

 x 7
11
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.
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Holly looked at the prices of the fancy pens 
and quickly estimated (to the nearest dollar) 
the cost of a typical fancy pen. The prices 
were $2.59, $2.53, and $5.64. What is the cost 
of a typical fancy pen, and how did she do it?

Many people have heard of the Great 
Plague of London in 1665 when a 
combination of Bubonic Plague and 
Pneumonic Plague killed 70,000 people out of 
a population of 460,000. How many people 
in London were not killed by the plagues?

There are 3 prime numbers greater than 15 but less than 25.  Name them.

At the mud factory, Purple's job is to scoop up mud and make it into kilogram blocks of 

mud.  She loves her job!  Today there were 7,987,360 milligrams of mud trucked in.  Each 

mud block is precisely 1 kilogram, no less, no more.  How many mud blocks can she make 

today?
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3 1 1
- 2 1 9

313 - 6575 = 2430 is how much more 
than 7277?

9  -  5
6

 - 5
6

 = 16  +  1
8

 + 1
2

 = Reduce 12
39

 to its lowest 

terms.

Find 3% of 60.
Change 90

100
 to a 

percent.

Change 3
5

 to a 

decimal.

Change to a percent and 
then to a fraction:

9% =  .     =  

7% =  .     =  

3% =  .     =  

4% =  .     =  

6% =  .     =  

Change 45
75

 to a 

decimal.

Find 50% of 150.
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Pay the bill!

Rent is due.  Jessica needs 
to pay her landlord $3,600.
Her landlord's name is
Emily Robinson.

1268JESSICA

B?RC

N?W RM RFC
MPBCP MD

BMJJ?PQ

$

+**#!&$%''+ -'($)!- "#')

MEMO

Pay the bill!

Jessica needs money.  She 
wants to get $100 in cash, 
so she writes a check 
payable to cash in this 
amount.  Write this check.

1269JESSICA

B?RC

N?W RM RFC
MPBCP MD

BMJJ?PQ

$

+**#!&$%''+ -'($)!- "#'*

MEMO

Round the decimal 0.735 to 
the nearest hundredth.

How many minutes is it 
from 7:00 a.m. to 11:25 a.m.?  (2,097,152) ,   (262,144) ,  

 (32,768) ,   (4,096) ,  

,    (64) ,   (8) ,   (1) , 

 1
8

,  1
64

3 x 1 x 7 + 2 55 divided by 5 equals
1

256
,  ,   1

16
,  1

4
,   

(1) ,   (4) ,   (16) ,   (64) 
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Pay the bill!

Wendy received a bill from 
Central Water for $207.22.  
Write the check as Wendy 
would write it.

1253WENDY

B?RC

N?W RM RFC
MPBCP MD

BMJJ?PQ

$

+**)($!%'*+ -%$(&)- "#&$

MEMO

Pay the bill!

Wendy received a bill for 
her cellphone from Mobile 
Unlimited for $62.93.  Write 
the check as Wendy would 
write it.

1254WENDY

B?RC

N?W RM RFC
MPBCP MD

BMJJ?PQ

$

+**)($!%'*+ -%$(&)- "#&%

MEMO

30,  43,  56,  69,  82,  95,  

,   121,  134,  147

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 5 feet?

Round 55,522 to the 
nearest hundred.

How much money is 1 
quarter, 1 dime, 1 nickel, and 
6 pennies?

The diameter of a circle is 
1,178 cm.  What is the radius 
of this circle?

What is 50% of 1,126?
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Maria is 2 times as old as Megan.  In 7 years, the sum of their ages will be 53.  How old is 

Maria?

This fraction is not in simplest form.  When this fraction is reduced to simplest form, the 

numerator is 2 less and the denominator is 5 less.  Whew!  That's confusing!  The numerator 

of this fraction is 4.  What is this fraction?

Use ALL of these digits, including the decimal point.  Cross off a digit after you use it.

7 2 5 6 1 .
Write a number that is closest to 680.
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Simplify.

15
20

 = 

6
9

 ô 1
3

 = Rewrite 17
20

 as a 

decimal.

Simplify.

3,300
5,500

 = 

2 x 2 x 2 x 2 = x4

What is the value of x?

0.7 (0.6 (0.7 x 9)) = 

7 x 7 x 7 = Zy

What is the value of Z 

and y?

What is the greatest 
common factor of the 
numbers 24 and 72?

t - 8 + t = 38
What is the value of t?

What is the prime 
factorization of 54?

Rewrite as an algebraic 
expression or equation.

Add 17 to the product of 4 
and c

5,   20,   29,   116,   125,   

500,  ,    ,   

,   

0.4 (0.3 (0.4 + 7)) = Rewrite 13
25

 as a 

decimal.

(4 + 8 + 9) =
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The half-time program of the high school 
marching band requires that each band 
member take three hundred eighty-five 
steps from the time he/she steps onto the 
field until the time the program is over. If 
there are one hundred thirteen members in 
the band, how many steps will the band 
members take in all?

Emily helped her aunt pick tomatoes from 
her garden. It was hard work and it made 
her back hurt, but it was worth it. Those juicy 
fresh tomato sandwiches would be delicious! 
They picked tomatoes from 7:46 a.m. until 
11:00 a.m. For how long did Emily and her 
aunt pick tomatoes?

Which two of these numbers have a product of 17.71?

5.7 0.077 2.3 0.057

7.7 0.57 0.023 0.23

In each group, use 4 of the numbers to make a proportion.
35 9 10 5 45 18

12 24 20 15 16 25
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

7.4815 x 102  =
16m - 28.1 = 99.9

m = 

Circle the least amount:
28%
0.43

6
25

If a = 6 and b = 71.1,
then
3a + b - a =

y = x + 18
y = 25
What is the value of x?

3 + (60 ô 6) - 28 ô 7 = 

Rewrite as an algebraic 
expression or equation.

Six thousand,  seven 
hundred eighty-four minus 
the product of s and 47.7.

What is the mode of the 
following number set?

22, 19, 20, 28, 27, 25, 25, 33, 
17, 29, 38, 37, 24, 32

The letter p is used to 
represent power points in 
a game, which can range 
from 218 to 619 points.  
Express this as an inequality.

The angles in a 

quadrilateral

measure 114o , 90o , 75o , 

and to .  What is the 

value of t?

Find the least common 

denominator for the 

fractions 12
54

 and 23
30

.

Use >, <, or = to complete.

81%    2
12

50%    1
2

1
10

    53%
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Spin again. I needed to spin time(s) to finish.

5 + (9 + 5) + 7 If m = -7 and x = 21 then 
what is 7m + 15x - 3x = ?

|-14| + j = 18

j =

0.9 x 0.07
11 + 6  11 + 8

9 x 9 x 2

What is the area of a 

rectangle with a length 

of 33 centimeters and a 

width that is 1
3

 the 

length?

A circle graph has five 
sections.  Only four 
sections are labeled.  The 
labels are 15%, 14%, 11%, and 
12%.  What should the 
missing section be?

A circle graph has five 
sections.  Only four 
sections are labeled.  The 
labels are 29%, 7%, 5%, and 
6%.  What should the 
missing section be?

In what quadrant would 
you find the point (12, 6)? Simplify.

44
198

 = 

9 + 8 x 10
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19 + 1
2

+7

-6 1
2

+ 3
5

+25 +47 92 3
5

-11

+23

+56

+3 3
4

+ 1
5

- 1
4 164 3

10

46 -7 + 5
7 -1 2

6

+11

+38+ 8
988 17

63-57+9 5
7

- 3
7 - 3

6 +18 +35 93 1
18 + 3

9 93 7
18
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Solve for the unknown value.  Hint:  It is a positive whole number.

51 + g = 88    g = 

8g = 40    g = 

z + 47 = 106    z = 

59 + y = 90    y = 

z + 38 = 74    z = 

How much time is it from 
9:00 a.m. to 10:40 a.m.? 160,  170,  180,  190,  200,  

210,  ,   230,  240,  

250

Write the missing family 
fact.
5 x 17 = 85
85 ô 17 = 5
17 x 5 = 85

Round the decimal 0.645 to 
the nearest hundredth. 36,  43,  53,  66,  82,  101,  

123,  ,   176,  207,  

241

It was 90 degrees outside.  
What would the 
temperature be if it got 13 
degrees colder?

11 x 4 = 54 ô 9 =  

Rosa rolls a die.  What is the 
chance of her rolling a 2?
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Rose has given powers to her collection of dolls.  There are the G dolls and the F dolls.  

Today she is having a match between one G doll and one F doll.  The doll with more power 

will win.  Who will win?

Two G dolls have 5 power points.

Four F dolls have 3 power points.

11m = 132
18
N

 = 6 N
4

 = 4

12,  14,  16,  18,  20,  22,  24, 

 26,  ,   30

What is the area of a 
rectangle with sides 5 cm 
and 9 cm?

Yummy Donuts gave three 
dozen chocolate donuts 
and four dozen jelly donuts 
to the school.  How many 
donuts did they give?

988 - 698 =  5 x 6 = 
1 cm = 10 mm

28 cm = mm
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The value of N is 12.  What is the value of each of these expressions?

N + 287

N + N

N x N - N

N + N x N

Mrs. Williams replaced one of the bulbs in the classroom with a 60-watt bulb that is 

supposed to last 8,500 hours.  The bulb will be used 6 hours each day school is in session.  

In how many school days will this bulb need to be replaced again?
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15  +  2
3

 - 3
4

 = 78 - 2
3

 = 14  +  2
3

 - 1
3

 =

5  -  1
12

 - 1
3

 = 12  +  5
8

 + 1
2

 = Reduce 10
24

 to its lowest 

terms.

2
7

 x  6 = 17  ô 1
2

 = 
Reduce each fraction to its 
lowest terms.

                  4
8

 =

9
63

 =

                  14
21

 =

18
54

 =

                  6
18

 =

104
112

 =

1 1
2

 x  4 3
11

 = 11 1
2

6-

2
3

 ô 6
11

 =
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Draw a line to match each problem with the same answer.

75% of 172

13% of 100

26% of 50

25% of 112

56% of 50

35% of 120

56% of 75

86% of 150

92% of 50

66% of 100

33% of 200

20% of 165

50% of 74

33% of 100

25% of 148

46% of 100

How many minutes is it 
from 8:00 a.m. to 11:15 a.m.?

A rectangle is 49 cm on 
one side and 5 cm on 
another side.  What is the 
perimeter?

7  ô 1
8

The area of a rectangle 

is 36 cm2 .  What could 

the length of the 4 sides 

be?

N,  I,  ,   G,  L,  E,  K, 

 C,  J,  A

Round 12,608 to the 
nearest thousand.

It was 4 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 24 degrees.  How 
warm was it?

What is the area of a 
rectangle with sides 4 cm 
and 6 cm?

Estimate quickly the 
difference.
7,200 - 1,810
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It was such 
pandemonium! It was 
the first day of school 
and 111 kindergarten 
children, 112 first 
graders, 92 second 
graders, and 121 third 
graders were looking 
for their teachers. How 
many children in all 
were looking for their 
teachers?

"Simplify your life. Find 
extra minutes or even 
hours in your day. You 
can have at least 43% 
more free time. To find 
out how, just send us 
$25 today," the 
television announcer 
trumpeted. Write 43% 
as a decimal.

Amanda's goal to improve 

her health is to run 8 miles 

per week. So far this week 

she has run 2 1
5

 mi and 

3 1
2

 mi. How many more 

miles must she run to meet 

her goal?

A,  E,  I,  ,   Q,  U,  

Y

The diameter of a circle is 
1,094 cm.  What is the 
radius of this circle?

What is 50% of 322?

Robinson Crusoe spent 
a lot of time exploring 
his island. He walked 6.3,
7.8, 6.4, 7.2, 9.5, 8.7, and 
6.6 kilometers during 
his first week. What 
was the average 
distance he walked 
each day? Round your 
answer to the nearest 
tenth.

As of 1997, Hoo Sateow 
of Chang Mai, Thailand, 
had the world's longest 
hair. At that time his 
hair was 203 inches 
long. Write the length 
of his hair in feet and 
inches.

Sarah is making small gift 

bags of tea. Each bag 

holds 1 1
2

 ounces of tea 

and sells for $4. She buys 

the tea for $10.45 per 

pound. Her other supplies 

cost $0.42 per bag. How 

much profit (or loss) will 

she make per pound of 

tea?
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Mr. White, the librarian at Fairview 
Elementary School, is retiring after 
working at the school for 25 years. 
The students are having a party to 
thank him for all the things he has 
done to help them. The party will start 
at 4:00 p.m. Jason has to shelve 43 
more books before he can go to the 
party. It is 2:26 p.m. right now. How 
long does Jason have to shelve the 
books before the party begins?

Several of Rose's friends are coming 
to her house. They are going to listen 
to Ms. Miller talk about evaluating 
their lives. Rose has 5 fl oz. of lime 
juice, 18 fl oz. of orange juice, 13 fl oz. 
of white grape juice, and 6 cups of 
ginger ale. Rose is going to make a 
punch. Does she have enough for 15 
5-fl oz. servings?

Know how many inches in 
a foot?  Okay, smarty pants,
how many inches in 9 feet?

18,  36,  ,   72,  90,  

108,  126,  144,  162

9 3
6

 + 3 3
6

Jenna made 3 dozen 
cookies. Sixteen of the 
cookies were 
chocolate chip and the 
rest were peanut 
butter. What fraction 
of the cookies were 
chocolate chip? Write 
your answer in simplest 
form.

Megan made a card 
for her parents to tell 
them she was sorry for 
not cleaning up the 
kitchen like she had 
promised. It took her 
24 minutes to make the 
card and write what 
she wanted. If she 
started at 1:44 p.m., 
what time did she 
finish?

Robert reads very fast. 
Sometimes he isn't sure 
what he has read, he 
reads so fast. He can 
read 5.8 pages in 0.2 
hours. How many 
pages can he read in 3 
hours?
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Complete each pattern, using the same rule.  Write what the rule is.

9, 11, 13, , 17, 19, 21, 23

, , , , 23, 25, 27, 29

5, 7, , , 13, 

Complete each pattern, using the same rule.  Write what the rule is.

8, 32, 39, 156, 163, 652, , , , , 

3, 12, 19, 76, 83, 332, , , , 

7, , , , , , 595
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Cross off the number that does NOT belong.

11, 13, 15, 17, 18, 19, 21, 23

Why does __________ not belong in the pattern?

Cross off the number that does NOT belong.

123, 32, 107, 28, 91, 24, 75, 20, 59, 34, 16, 43, 12

Why does __________ not belong in the pattern?
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What does the 5 in the number 549,316 
mean?

A) 5000

B) 500000

C) 50000

D) 50

224 ô 8 = 

A) 21

B) 28

C) 799

1457 + 1,503 = 

A) 8,910

B) 2,950

C) 2,960

D) pennies

Which of the following numbers is between 
6.2 and 6.02?

A) 6.61

B) 6.15

C) 6.49

D) 62

7 x 67 = 

A) 469

B) 669

C) 499

D) pennies

6 hundreds and 3 hundred thousands = 

A) 3006000

B) 300060

C) 300600
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Complete each pattern.  Write what the rule is.

184 170 156

142 114

100 72

58 44

Complete each pattern.  Write what the rule is for each pattern.

 (61,917,364,224) ,  (5,159,780,352) ,  (429,981,696) ,  

(35,831,808) ,  (2,985,984) ,  (248,832) ,  (20,736) , 

 (1,728) ,  (144) , 

 (123,966,280,704) ,  (8,854,734,336) ,  (632,481,024) , 

 (45,177,216) ,  (3,226,944) ,  (230,496) , 

 (16,464) , , 
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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Double the number 8 three 
times. 30 ô  = 6

How many total legs are on 
2 zebras and 5 owls?

How many tens are in the 
number 60?

April has 32 books.  She 
organized them equally 
into 4 boxes.  How many 
books in each box?  ô 9 = 4

Write the first 9 multiples of 
6.

Gavin bought 6 dozen 
cupcakes for a party.  How 
many cupcakes did he buy?

113,  ,   98,  101,  83,  

85,  68,  69,  53,  53,  38,  

37,  23

It was 73 degrees outside.  
What would the 
temperature be if it got 14 
degrees colder?

Round 78,223 to the 
nearest hundred. Write 9

15
 in lowest 

terms.
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Spin again. I needed to spin time(s) to finish.

Sarah has 28 books.  She 
organized them equally 
into 4 boxes.  How many 
books in each box?

Write the greatest possible 
3-digit number using only 2 
different numbers.

28 ô 7 =

40,  40,  48,  56,  56,  72,  

64,  88,  72,  104,  

,   120

56 ô 7 = What is 15 less than 1,999?

What 5 coins add up to 86 
cents?

How much money is 1 
quarter, 1 dime, 6 nickels, 
and 1 penny?

How many centimeters in 
920.5 meters?

The diameter of a circle is 
696 cm.  What is the radius 
of this circle?

11  ô 1
6

How many meters are 
there in 158 kilometers?
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